Have your homework out ready to check. Grab a half sheet from the front
table and Warm Up. TEST MONDAY!

Classwork - Test Review (Word Problems)
1) Completely simplify each expression.
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2) Completely factor each expression by creating an area model. Rewrite the factored form of the
expression.
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onmbining Like T erms

Simplify the following expressions by combining like terms, Circle/Box like
terms — INCLDUING THE SIGN IN FRONT - then simplify.,
There should not be any like terms in your final answer,
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The following problems involve combining like terms and distnbutive property. After using the distnbutive
property, identify and simplify like terms.
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Simplify each expression to decide whether the 2 expressions are equivalent or not. Show work to prove your

Arnswier.
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Solve the following equations, Simplify the equations BEFORE solving if needed. Make sure to show inverse
operations on BOTH sides and WORK DOWN, SHOW ALL WORK.
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Solving Inequalities

Solve and graph the following inequalities. Remember, when multiplying or dividing by a negative number
to musi flip the inequality symbol. SHOW WORK
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10 -O iy Y +% 8
Yy £ 20 U =3 >-21
D, BN 2T
e (—l——|—-1~—+—|—¢‘——|-——|—l-?—b—b—)

et ———————> .

3 ¥ 5 & 7 =1 =13 =12 =il = s & 3 T 9



1
D) 5x —12 < 13 E) <~x-4>-8

. F) 38 < 6x = 10
e ¢+ A48 4+ 4+l 4+
25 2. x> -4 1B L 6
T 5 13: -2 e -
x<5 E:-',_:m) TLx o v>8
e r——
T T e e T B e e B e T o =
5 Y s & % - =13 -1v =N b 3 § 9 o
G) —3.5x — 7 < 49 H) EI+IDEI
43 +3 * -0
“3.5x¢ T
-2.5 _3.% t{ HE q 'f

L)

-} <y -le -15

'H -li -ir -l -m



